[bookmark: _Hlk94533805]WRITING, SIMPLIFYING AND ORDERING FRACTIONS
[bookmark: _Hlk94365376]Pearson Edexcel - Monday 8 June 2020 - Paper 3 (Calculator) Foundation Tier
1. 
[image: ]


















Pearson Edexcel - Thursday 24 May 2018 - Paper 1 (Non-Calculator) Foundation Tier
2. 
[image: ]

Pearson Edexcel – Specimen 1 - Paper 2 (Calculator) Foundation Tier
3. [image: Graphical user interface, application

Description automatically generated]

















Pearson Edexcel – Sample Paper 1  (Non-Calculator) Foundation Tier
4. [image: A picture containing table

Description automatically generated]





OCR Tuesday 5 November 2019 – Morning (Calculator) Foundation Tier
5. [image: Text

Description automatically generated]




[image: Text

Description automatically generated with low confidence]








OCR Monday 12 November 2018 – Morning (Calculator) Foundation Tier
6. [image: A picture containing calendar

Description automatically generated]



	

Pearson Edexcel – Sample Papers - Paper 1 (Non‑Calculator) Foundation Tier
7. 
[image: ]
OCR Sample Question Paper 1 – Morning/Afternoon (Calculator) Foundation Tier
8. 
[image: ]

















AQA Tuesday 19 May 2020 – Morning (Non-Calculator) Foundation Tier
9. 
[image: ]








[image: ]




AQA Thursday 11 June 2019 – Morning (Calculator) Foundation Tier
10. 
[image: ]








[bookmark: _GoBack]AQA Thursday 8 June 2017– Morning (Calculator) Foundation Tier
11. 
[image: ]
[image: ]
[image: ]

image4.png
2 Write 0.037 as a fraction.

(Total for Question 2 is 1 mark)
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‘What fraction of the shape is shaded?
Give your answer in its simplest form.

(Total for Question 7 is 2 marks)
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